2022 oy 895 maldt o ) B318) O UL Bl Ol a1 Sy oo gl e ) Redlh
i gt D peadd) y 3lady) g i gl o shal) 2SS

O Pl (8 83y
2022 oyl 25 a3d
=i b il oy g
*x**x*QQ7 Z‘Syu) &’J‘ 1
*k**%7D() > Sl 2
**kk%/9Q odadl OlemyJl due 3
*kkkk7 wow WT 4
*xkx%181 Q! el das] 5
*kkk k475 LS&‘)J‘-” olel 6
koK kGA ] ;5)>L° Lo -
*k** %050 sl 0250 8
kKK k g7 L:SJ_.{)"\J‘ BN 9
*kx*%341] sl R 10
*kkkk)E L§3b—°3 ) 11
*kkkkg3] Sl 3] 12
FFEE329 S Sare 13
*AxE*586 Solasd! 8y 14
* k% k()G "d,‘ﬁ}j‘ 4l 15
*Ek*k*780 (gl QLQJ}') 16
*rk k%370 d.l-‘bjﬂ ) 17
*EERX024 dnryion oxa 18
*kkk*301] AlesyJl Lol 19
*k** %09 Ao e 20
*kkk*GQ) PR es Cul 21
*kx*kkQQE Y5 dali 22
*kkkkQoq] Syl $oé 23
*k**%)16 59,2l 9 24
** %k * £ S9lé,e &l 25
*kk*%DD() 6w‘ ) 26
*kok % k707 ) Jbj Do 27
*EAx*002 Sy Olg> 28
**kk*QGQ owdaly bl g romm 29
*%%k%x%0Q971] L?'-'?"JJ‘ L) 30
AV IE Sle gl N 31
*kkkk33) Olye> ey 32
*XkxX%247 S9! Ol 33
kAxk%128 gl »be 34
*x*kx%/1/73 Kol salall 35




pa— ol 36
*kkx%kq3] “4.;.:33‘94 ‘}JJ.-C:\AM -
Fkkxx230 4-*-1‘-’-“’3-’ - — 5
*x*kx%334 e . 28
*x*x %795 jﬁ e 29
**k% K7D . L&C e 40
*x*k**¥301] j}c L 4
***%%/7() dl;ajb e 2 42
*x*kx*Q/3 L)l L 4
****kx03Q u“’:’&—w s 4
** k% %774 L”;JM_T o 4
*x*kx%93] | ‘ et L
***%%30)7 L!J'“ C;Slé =
*x*x %037 S5ls) Bjyj o1
*%kx*k%)77 L“Sy»*-‘"“ 2o >
*x*kx*QCD LS)*J ;M =
*¥*% K513 Lf‘)}” CN:C =
*x*kx%374 j&::) 2ot =
***%%xQq7 . NJ" o =
***%%90() 2 | - o7
***%%/03 L”S)}Q;tJ imﬁ =
*x*%%196 sz;f e =
***%%QQ/ LJJ" e 60
****%340 Jw ‘ - o1
ey L’NS?J Oy 63
*kkkkg7 u")i é‘}:j -
*x*kx%791 L“s)} = o4
***% %779 dﬁ BJ;AT =
***%%9/Q L;Lg ] o6
*% %% *()5Q L“Sﬁd;j S -
*%%%%04Q LS) = T =
****¥*Q5Q w.,al.: 20 69
*x*kx*757 u“; 2 WTM 10
***%%343 S o) = 72
* %% %% 194 250 L}J;MU 72
***¥*530 GT;A:‘ d"b;j E
B e dapsl 75
*kkXKGE3 L;_Sji:‘ ﬁjj‘ - o
*x*%%796 S o 76
*xkx*k0Q1] gﬁw‘ dose




Sdhus ) 78
skok ok kG A . ”L‘b ﬁbﬁ L
*%k%kx%311] S\ £ =
*kkk%k797 szl:j: U:U;-w =
*k k% %160 L”i‘;;ﬁ‘ o >
*kkk k)0 L 555 &’j i
*kkkk]D3 “if; 431 i
*kkkk )77 j;ﬁ)| = ot
*kkkk0Q o = >
*kokk k] G7 )_,L:;‘ 2 i
*kkkk3)0 d_" . wl&gl il
%k ok ok *Q ()8 L?Qf‘)f - o
*****768 i‘:i o[i) = 90
%k ok k k()] : )J. 2 2
*kkkkQ77 u::j” e -
**%%%100 S - R =
*kkkk7Q7 o s =
%k ko k )07 ﬁ;’; ;l;&& o
*kkkkgQ)g 2 —— >







